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QUESTION 1

Your database supports an OLTP workload. Examine the output of the query: To ensure faster instance recovery, you
set the FAST_START_MTTR_TARGET initialization parameter to

SQL> SELECT target mttr, estimated mttr
FROM vSinstance recovery
TARGET MTTR ESTIMATED MTTR

30.

What is the effect of this setting on the database?

A. Automatic checkpoint tuning is disabled.

B. The frequency of log switches is increased.

C. The overhead on database performance is increased because of frequent writes to disk.
D. The MTTR advisor is disabled.

Correct Answer: C

QUESTION 2

Which three are true about Transparent Data Encryption (TDE)? (Choose three.)
A. It stores the current and all past master keys in the keystore.

B. It replaces secure application roles.

C. Master encryption keys are managed by Oracle Database Vault.

D. It can encrypt data at the column level.

E. It uses a single master key for a database.

F. It encrypts only data on the client.

Correct Answer: ACD

Reference: https://docs.oracle.com/database/121/ASOAG/introduction-to-transparent-
dataencryption.htm#ASOAG10117

QUESTION 3
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The CATDB12C database contains an Oracle Database 12c catalog schema owned by the RC12C user. The CATDB11
database contains an Oracle Database I1g catalog schema owned by the RC11 user.

A database with DBID=1423241 is registered in the CATDB11 catalog. Both the recovery catalog databases are open.

In the CATDB12c database, you execute the commands:

$rman
RMAN> CONNECT CATALOG rcl2c/passl2cl@catdblZc
RMAN> IMPORT CATALOG rcll/pwdcatll@catdbll DBID=1423241;

What is the outcome of the import?
A. It fails because the target database and recovery catalog database are of different versions.

B. It succeeds and all global scripts in the RC11 catalog that have the same name as existing global scripts in the
RC12C catalog are automatically renamed.

C. It succeeds but the database is not automatically registered in the RC12c catalog.
D. It fails because RMAN is not connected to the target database with DBID=1423241.

Correct Answer: A

QUESTION 4

Which three RMAN persistent settings can be set for a database? (Choose three.)
A. backup retention policy

B. default backup device type

C. default section size for backups

D. default destinations for backups

E. multiple backup device types for a single backup

Correct Answer: ABD

Reference: http://docs.oracle.com/cd/B19306_01/backup.102/b14192/setup004.htm#i1019739

QUESTION 5

Which two are prerequisites for creating a backup-based duplicate database? (Choose two.)

A. connecting to the target database and a recovery catalog to execute the duplicate command
B. creating a password file for an auxiliary instance

C. connecting to an auxiliary instance
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D. matching the database identifier (DBID) of the source database and the duplicate database E. creating an SPFILE for
the target database

Correct Answer: AB

Reference: http://docs.oracle.com/cd/E11882_01/backup.112/e10643/rcmsynta020.htm#CHDEDFFH
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